

Why Choose Us?

Lyceum Kennedy partners with vendors across all five boroughs and New Jersey to provide exceptional enrichment options all* under the LK roof!

You can click here to find a list of all of our vendors.



Here at Lyceum Kennedy, we are proud to offer a wide-range of activities and options for our families during afterschool hours and camp days!

Our program of enrichment classes

helps children thrive academically, physically, artistically and intellectually.



& Camp Program

Registration is open! Check your email for the link to register.

Afterschool@lyceumkennedy.org

What we offer



Homework Help

Lyceum Kennedy offers a Homework Help Program from Monday through Friday for grades 1st through 12th grade from 3:45pm to 6:00pm.

In our Lower School, French bilingual instructors are assigned to homework help rooms to provide homework aid. There is no guarantee homework will be completed depending on how many assignments are received, as well as the number of students who register for the aid.

In our Upper School, students are welcome to stay during after-hours to complete homework at their own pace.



<u>Aftercare</u>

Our Lower School offers Aftercare for for Preeschool from 3:30 to 6pm.

In aftercare, students enjoy arts & crafts, movement, free play, and more fun activities led by our monitors.





Activities

We offer a wide-range of enrichment activities for students in grades Nursery through 9th.

We partner with vendors to provide activities such as sports, foreign languages, music, art, dance, acting and more. Options may vary by semester and spots are first-come first serve.



January 2024 to June 2024

(CLICK HERE)



MINI CAMPS

During our school breaks in October, February and April, we offer a week-long day camp for our students in nursery through 5th grade.

Our camp program encourages students to tap into their creativity and curiosity while engaging in fun artistic and physical activities. We also engage with specialized activity vendors to create unique learning experiences for all ages.





LEARN MORE BY CLICKING HERE

Afterschool@lyceumkennedy.org



SUMMER CAMP



Join us for our French Bilingual fourweek camp!

Our LK campers will enjoy swimming lessons at the YMCA, cooking, soccer, and more!

Homework Help & Aftercare Hours & Cost





Aftercare (Grades Nursery to Kinder)

From 3:15pm to 4:30pm: \$345 for the entire semester per day chosen

From 4:30pm to 5:30pm: \$330 for the entire semester per day chosen

From 5:30pm to 6:00pm: \$165 for the entire semester per day chosen



Homework Help (Grades 1st to 2nd)

From 3:30pm to 4:30pm: \$330 for the entire semester per day chosen

From 4:30pm to 5:30pm: \$330 for the entire semester per day chosen

From 5:30pm to 6:00pm: \$165 for the entire semester per day chosen



Homework Help (Grades 3rd to 5th)

From 3:45pm to 4:45pm: \$330 for the entire semester per day chosen

From 4:45pm to 6:00pm: \$350 for the entire semester per day chosen

What we provide



French & English Teachers



Laptops





Language Activity Overview

Arabic Class



You can expect your child to learn how to articulate, write, and read the alphabet, as well as having basic understanding for regional and classical Arabic.

The course is designed to be flexible for students who are beginner, intermediate, and advanced levels.

Teacher for this course is TBA.

Korean Class (Beginners)



Korean classes will be available during the second semester of ECA's for the very first time!
As an International School, we pride ourselves by

providing opportunities for our students to learn from various cultures. This class will focus on the Korean Alphabet, as well as lessons through song, music and dance.

Please note, this is a beginner's course. Advanced courses are not available at this time.

*Minimum of students: 5
Maximum of students: 10

Science Activity Overview



Circuitry & Engineering Adventures

Through hands-on activities, your child will learn about the science behind jet propulsion, aerodynamics, and circuitry as they construct their very own working device. Along the way, they'll also work on smaller projects related to each unit and bring them home to show off their progress.

At the end of the course, your child will proudly present their completed, individual working machine - a tangible testament to their newly gained problem-solving, engineering, and science skills. Don't miss out on this incredible opportunity to inspire and empower your child through the exciting world of engineering!

Art & Engineering

Practical and creative design meet in this club for young creators interested in both art and engineering. Here, students will learn the nuts and bolts behind home design, animal habitat creation, and even engineer their own obstacle courses – along with many more challenging projects.

This course hones in on subjects that have already captured your child's interest, such as architecture, natural science, and engineering, and empowers them to create and design their own projects centered on these topics. Over time, they will develop the confidence they need to apply engineering principles in their own lives and inspire a lifetime of planning, building, and creating.

*Minimum of students: 5
Maximum of students: 10

Science Activity Overview



Electrifying Engineers

In Electrifying Engineers, students will dive into core circuitry and electricity concepts. Through engaging projects, they will bring their imaginative ideas to life and gain a deeper understanding of how this technology powers our everyday lives, igniting a sense of wonder and appreciation.

With every twist of a wire and connection made, students will exercise their essential problem-solving and critical-thinking skills. By the end of the course, they'll be confident in their ability to design and create impressive circuit-powered gadgets.

Code & Create an APP & Video Game Coding Design

With the power of coding, anything is possible! That's the primary lesson of iCAMP's Code and Create an App course, which uses age-appropriate platforms and interactive challenges to introduce coding concepts like loops, conditionals, cause and effect, and much more.

Throughout the course, young coders will use these concepts to build their own video games, quizzes, and apps. Students will collaborate with their peers to test and revise these apps and their interfaces, learning how to use constructive feedback along the way. With Blocksmith, a 3D content creation tool, students will learn the basics of modern game and app design.

*Minimum of students: 5
Maximum of students: 10

Gizmo & Gadgets

Ideal for budding tinkerers and builders alike, iCAMP's Gadgets and Gizmos course gives students the inside scoop on all the gadgets and machines that we rely on in our everyday lives. Students will get hands-on with motors, speakers, and electromagnets, creating their own circuits to power them.

In Gadgets and Gizmos, students will learn core circuitry and electricity concepts, like current, resistors, conductivity, and more – building and testing their own gadgets along the way. Throughout the course students will discover how technology can be found in their everyday lives, instilling a new appreciation for the devices they use.

*Minimum of students: 5
Maximum of students: 10

STEM Activity Overview



Junior Chemists

We are happy to announce the return of Junior Chemists! Provided by our vendor iCamp and instructed by Ms. Neishtadt, students in N-K have the opportunity to explore chain reactions, the different states of matter, motion, and energy.

Every lesson is designed to engage young scientific minds, allowing students to express their creativity and pick up new interests. Your junior scientists will learn about everything from astronomy to basic physics, expanding their perspective of the world around them with each new project.

Science Experiments

Put on your lab coats and don your safety glasses, iCAMP's Little Einsteins' fun with Science! The course is a broad introduction to core scientific concepts for young learners.

Through experimentation and discovery, they will learn to relate these sometimes challenging concepts to their own real-life experiences. Experiments like self-inflating baking soda and vinegar balloons and mini volcanos encased in lemons will teach them that incredible scientific discoveries wait around every corner, if they just know where to look.

Mad Science

Welcome to the world of weird science! In this course, budding inventors and fledgling mad scientists can experiment to their heart's content, creating their own slime recipes and learning about the chemistry of polymers to gain a better understanding of how it all works.

Later, they'll extract DNA from peas and learn how to engineer and design their own cars – all relating back to their everyday lives and showcasing the power of the scientific method. By the time this course is done, students will take ownership of their science education and walk away excited about the possibilities the natural world has to offer.

*Minimum of students: 5
Maximum of students: 10

*Minimum of students: 5

Maximum of students: 10

Science Activity Overview



Mighty Mechanics

This course proves that science can be an exciting and dynamic discipline by putting the gears directly into your child's hands! Each lesson is designed to provide students with hands-on experience behind some of the most fundamental concepts in mechanical engineering.

Students will build and experiment with hydraulic grabber hands, test cars, and more, each introducing a new concept – from Newton's laws of motion to the principles of energy transfer. Better yet, their creations will give them a personal look at how all these concepts combine to define the world we live in.



Artistic Activity Overview

Group Ukulele & Guitar Workshop



Mr. Guillaume is our afterschool private music lessons teacher. He is a fluid, lyrical guitarist who also composes his own music.

This upcoming semester, students will have the opportunity to join small group lessons for guitar and ukulele workshops.

Beginners are welcomed!

Instruments are not included and must be either purchased or rented. For assistance with finding the proper instrument, please e-mail the afterschool coordinator to connect you with Mr. Guillaume.

*Students are expected to perform at the end of the year.

Plastic Arts



Ms. Wendi has been a Lyceum Kennedy employee for 10 years. Her popular afterschool activity, Plastic Arts, is a staple in our program!

Students will have the ability to express their creative minds from painting, sculpting, and more. Each class is a unique experience that involves hands-on lessons with artistic tools, as well as learning color wheel and pallet strategies.

Musical Theatre



Emmanuelle Zagoria is a French-Australian singer, performer, composer and improviser. She trained in jazz and classical voice, musical theatre and physical theatre at the

Jacques Lecog theatre school, music conservatories, and the Rick Odums musical theatre school in Paris, among others. She is also a founding member of the Modern Music Department at the conservatory Erik Satie in Paris.

Students will be performing pieces from musicals for their end of the year performance. No experience in dance, acting or singing is required!

*Minimum of students: 5 Maximum of students: 10

Artistic Activity Overview

French Songs & Movement



Mr. Guillaume is our afterschool private music lessons teacher. He is a fluid, lyrical guitarist who also composes his own music.

This upcoming semester our preschool students will be able to benefit from learning French language, vocabulary, and more from Mr. Guillaume's French Songs & Movement course. This course is recommended for students who enjoy to sing, dance, and would like to strengthen their French in a fun way!

The Voice!



Emmanuelle Zagoria is a French-Australian singer, performer, composer and improviser. She trained in jazz and classical voice, musical theatre and physical theatre at the

Jacques Lecoq theatre school, music conservatories, and the Rick Odums musical theatre school in Paris, among others. She is also a founding member of the Modern Music Department at the conservatory Erik Satie in Paris.

Upper School Students will have the opportunity to join a choir setting and learn their pitch ranges, as well as singing individually for 2024 events and performances.

*Minimum of students: 5
Maximum of students: 8

Dance

Activity Overview

KinderDance



Kinderdance® for young children, ages 3-5, is a developmental dance, motor skill, music, and

fitness program. Boys and Girls can be enrolled for up to 3 years with this 3 level program. Parents who want to give their child the opportunity to dance will love how Kinderdance® teaches the basics of Ballet, Tap, Acrobatics and Creative Movement while blending educational concepts.

Children dance to original and familiar child friendly music while learning from Kinderdance® certified instructors.

*Ballet or Jazz shoes are required

KDJazz



(KDJazz focuses on fundamental jazz dance techniques and terms which will then grow

over the course of the program. Children learn Body Isolations, Combinations, Progressions, and Sequences. Stretching and strengthening is safely executed to increase mobility and balance.

Age appropriate Music, Movement and Educational Concepts are safely introduced for young learners to help improve rhythms and patterns while having fun! Your child will smile, dance, leap, and use their imagination together with a certified teacher.

*Tap shoes & Jazz shoes are required

Dance Classes



APDANCE Inc. was created at the end of 2020 after Artistic Director Anne Parichon-Buoncore's idea to bring Contemporary Dance to the street.

Mrs. Anne has been working with Lyceum Kennedy for the past year and is absolutely adored by our students! We are happy to open dance for our Upper School.

APDANCE is bringing us a Jazz, Hip-Hop, and our very first Lyceum Kennedy's Dance Team! Students will perform their choreography for our end of the year show as well as for events.

*Jazz shoes are required

*Minimum of students: 5
Maximum of students: 10

*Minimum of students: 5
Maximum of students: 10

Basketball

k

Its time to bring back basketball!

Mr. Rojon, Lyceum Kennedy's physical education teacher will be coaching our basketball

classes this upcoming semester.
Originally from France, he has taught physical education in Nice prior to two years in Paris. He has experience working with both elementary and high school students, and is currently motivated to bringing wonderful afterschool sports for our students!

We are excited to have Mr. Rojon join our program!

*Lyceum Kennedy Gym clothes required for this class. Sneakers are also required.

*Minimum of students: 6
Maximum of students: 12

Basketball League



Competitions? Bring it!
Lyceum Kennedy is
excited to announce that
we will be bringing a
Basketball league to our
school, with none other
than our very own Upper

School students! It is with great pleasure to announce Mr. Rojon will be coaching a League during the second semester from January to March. The intention is to take our students to Chicago for a competition against other French-American schools across the nation.

*Participation is optional for students to travel to any out of state competitions. Students may still join the league and choose to opt out of the competition.



Fencing



Sheridan Fencing Academy combines diligence, training, and fun to create a sports education that's truly special. All of the

exercises the instructors employ in their classes are designed to engage the student's mind as well as body, so that the training is fun and the student learns and improves more quickly. Our unique methodology and training system have allowed us to turn beginners into some of the nation's top athletes in extremely short time. Children in our programs learn more than just how to fence. They learn how to excel.

*Equipment provided

Karate



Our program gives kids a safe place to learn and practice martial arts, whilst making new friends in a fun, social and educational setting.

Kids who study martial arts learn respect for themselves and others, discipline in the pursuit of goals, and the rewards of hard work – lessons that carry over to home, school, and beyond.

*Martial Arts uniform not required, but strongly recommended

Kindergym & KidsYoga



Kindergym® is designed to provide boys and girls, ages 3-5, with fun activities

including floor gymnastics, tumbling, acrobatics, gross motor development, and movement education. Music appreciation and academic readiness skills are incorporated into each activity. Mats, low safe beams, and obstacle courses are utilized throughout the curriculum.

KidsYoga is also back again! Taught by our very own KinderGym instructors with certified Yoga coaches. Our students will be able to have the chance to do an activity that helps calm them after a long day whilst working on their stretching abilities-- who doesn't want to zen for an hour?

*Minimum of students: 5
Maximum of students: 10

*Minimum of students: 6
Maximum of students: 15

Soccer League



Its all about training to do your best, and that is exactly what Mr. Rojon is planning to teach to our Upper School Students in the second term! From March to June. our Upper School students will

have the opportunity to go travel to an out of state competition as Lyceum Kennedy's very first soccer league.

During his second year of teaching in Paris, Mr. Rojon had set up a Futsal Sports Association for his past school, combining his passions for teaching and soccer!

Students will train both in our gymnasium as well as the Robert Moses park. *LK Gym clothes, appropriate soccer shoes, and jackets for outdoor trainings are required.

Soccer FFF



The French Football Academy NY is the Official Academy of the French **Football Federation** established in New York

City. The Academy offers its young players a complete pathway focusing on athletic development and training underpinned by world-class technical excellence, making the FFF the first football federation in the world to open this kind of innovative structure.

*Gym shoes required to play. Competitions outside of Lyceum Kennedy may require a small fee.

Super Soccer Stars



Set in a fun. non-competitive environment, Soccer Stars offers the nation's most

fun, popular children's soccer program for kids ages 1 and up. Backed by 20 years of experience, Soccer Stars offers a unique, age-specific curriculum that is crafted to improve soccer skills, build self-confidence, and develop socialization skills.

*Gym shoes required to play.

*Minimum of students: 8 Maximum of students: 12 *Minimum of students: 5 Maximum of students: 10 *Minimum of students: 6

Maximum of students: 12

Tennis



We are thrilled to announce that we are bringing Tennis to our Preschool division, by our very own Super Soccer Stars vendor!

Highly requested, we are excited to bring a new form of physical sport to our afterschool program that starts with our preschool. Students will have the opportunity to learn coordination, as well as working in teams of two as they play together.

*All equipment is provided. Students are asked to bring shorts and sneakers for comfort.

Swimming



Lyceum Kennedy is proud to partner with our local YMCA for a second year of swimming lessons!

Join us at the Y, where a certified swimming instructor will teach your child the basics of paddling, floating, and more all while also learning the fundamentals of water safety.

*Swimsuits and Goggles are required. Caps are provided and must be worn for each lesson.

*Minimum of students: 5
Maximum of students: 10

Academic Enrichment Activity Overview

Chess



Chess is a game that has been around for centuries, and it is still as popular today as it ever was. Chess is a game of strategy and tactics, and it

requires kids to think ahead and plan their moves carefully. This helps them develop their problem-solving skills, which are essential for success in school and in life.

*Chess boards and pieces are provided.

Reading Workshop



Ms. Lea's Reading
Workshop is one of our
most fundamental
programs here at Lyceum
Kennedy! This workshop
develops fluency,

comprehension, and vocabulary, while also measuring student motivation. Students' will be reading and evaluating fictional and non fictional stories to build comprehension skills. This workshop is strongly recommended for children who need extra time and aid in English & French literacy.



*Minimum of students: 5
Maximum of students: 10

Other Activity Overview

Crochet & Design



Winter is here, and we are delighted to announce our new Crochet & Knitting Design class for our 1st to 5th grade students!

Ms. Una, Lyceum Kennedy's Art teacher, will be leading hands-on activities for students to learn how to make their own scarfs, mittens, and more. They will be able to identify and create specific stitchings', as well as merging separate pieces to create a final project by the end of the term.

Students are welcomed at any level, and may bring their own yarn if desired.
Yarn and tools are provided.

Japanese Culture



Japanese culture is one of the most fascinating and unique cultures in the world. It is a culture that is steeped in history and tradition, yet it is also

constantly evolving. Learning about Japanese culture can help your child develop a deeper understanding of the world around them, and it can also help them appreciate the beauty and complexity of Japanese society.

Students will learn not only about the Japanese culture, but they will also learn the Japanese Hiragana alphabet as well as having discussions about anime and manga!

*Japanese language not required

Origami



Origami is a traditional Japanese art form that involves folding paper into different shapes. It is a fun and creative

activity that can be enjoyed by people of all ages. Origami can also be a great way to teach kids about Japanese culture and history.

If you are looking for a way to help your child develop their fine motor skills, problem-solving skills, creativity, and learn about Japanese culture, an origami culture class is a great option. These classes typically cover a wide range of topics, including the history of origami, different folding techniques, and Japanese culture.

*Minimum of students: 5
Maximum of students: 10

*Minimum of students: 5
Maximum of students: 10

Preschool Activities

Mondays

Junior Chemist (3:30 to 4:30) \$40 per session x 19 sessions: \$760

Eveil Musical *Pre-K & K Only (3:30 to 4:30) \$30 per session x 19 sessions: \$570

<u>Tuesdays</u>

Karate (3:30 to 4:30) \$30 per session x 21 sessions: \$630

Arabic Language (3:30 to 4:30) \$30 per session x 22 sessions: \$660

Swimming (Pre-K & K only, 3:30 to 5:45) \$55 per session x 21 sessions: \$1155

Tennis (4:30 to 5:30) \$30 per session x 21 sessions: \$630

Wednesdays

Plastic Arts (3:30 to 4:30) \$30 per session x 21 sessions: \$630

Korean Class (Beginners, (3:30 to 4:30) \$30 per session x 21 sessions: \$630

KidsYoga (3:30 to 4:30) \$30 per session x 21 sessions: \$630

<u>Thursdays</u>

KinderDance (3:30 to 4:30) \$30 per session x 21 sessions: 630

Tinytots Musical Theatre (3:30 to 4:30) \$35 per session x 21 sessions: \$735

Gizmo & Gadgets (3:30 to 4:30) \$40 per session x 21 sessions: \$840

<u>Fridays</u>

KinderGym (3:30 to 4:30) \$30 per session x 19 sessions: \$570

Super Soccer Stars (3:30 to 4:30) \$35 per session x 16 sessions: \$560

1st & 2nd Grade Activities

Mondays Chess (3:45 to 4:45) \$30 per session x 19 sessions: \$570 Arabic (3:45 to 4:45) \$30 per session x 19: \$570 Robotics & Engineering (3:45 to 4:45) \$40 per session x 19 sessions: \$760

Soccer FFF (4:45 to 5:45) \$35 per session x 19 sessions: \$665

<u>Tuesdays</u>

Musical Theatre (3:45 to 4:45) \$35 per session x 22 sessions: \$770

Swimming (3:30 to 5:45) \$55 per session x 21 sessions: \$1155

Code & Create an APP (3:45 to 4:45) \$40 per session x 21 sessions: \$840

Crochet & Knitting Design (3:45 to 4:45) \$30 per session x 21 sessions: \$630

Mighty Mechanics (4:45 to 5:45) \$40 per session x 21 sessions : \$840

Musical Theatre (4:45 to 5:45) \$35 per session x 22 sessions: \$770

Wednesdays

Reading Workshop (3:45 to 4:45) \$30 per session x 21 sessions: \$630

Art & Engineering (3:45 to 4:45) \$40 per session x 21 sessions: \$840

Japanese Culture: Anime, Food, & More! (3:45 to 4:45) \$30 per session x 21 sessions: \$630

Karate (4:45 to 5:45) \$30 per session x 21 sessions: \$630

Group Ukulele Class (4:45 tp 5:45) \$30 per session x 21 sessions: \$630

Thursdays

Creative Dance (3:45 to 4:45) \$30 per session x 22 sessions: \$660

Plastic Arts (3:45 to 4:45) \$30 per session x 21 sessions: \$630

Origami (3:45 to 4:45) \$30 per session x 21 sessions: \$630

Circuitry & Engineering
Adventures (4:45 to 5:45)
\$40 per session x 21 sessions: \$840

<u>Fridays</u>

Gadgets & Gizmos (3:45 to 4:45) \$40 per session x 19 sessions: \$760

KD-Jazz (3:45 to 4:45) \$30 per session x 19 sessions + 1 show: \$600

Swimming (3:45 to 5:45) \$55 per session x 19 sessions: \$1045

KidsYoga (3:45 to 4:45) \$30 per session x 19 sessions: \$570

Grades 1-2 Activities

3rd-5th Grade Activities

<u>Mondays</u>	<u>Wednesdays</u>	<u>Fridays</u>
Chess (3:45 to 4:45) \$30 per session x 19 sessions: \$570	Video Game Coding & Design (3:45 to 4:45) \$40 per session x 21 sessions: \$840	Gadgets & Gizmos: Circuits, Motors, and more! (3:45 to 4:45)
Robotics & Engineering (3:45 to 4:45) \$40 per session x 19 sessions: \$760	Soccer FFF (3:45 to 4:45) \$35 per session x 21 sessions: \$735	\$40 per session x 19 sessions: \$760 Swimming (3:45 to 5:45)
Mad Science Experiments (4:45-5:45pm) \$40 per session x 19 sessions: \$760	Reading Workshop (3:45 to 4:45) \$30 per session x 21 sessions: \$630	\$55 per session x 19 sessions: \$1045
Jazz Dance(4:45 to 5:45) \$30 per session x 19 sessions + 1 show: \$600	Karate (4:45 to 5:45) \$30 per session x 21 sessions: \$630	KidsYoga (3:45 to 4:45) \$30 per session x 19 sessions: \$570
<u>Tuesdays</u>	Hip Hop (4:45 to 5:45) \$30 per session x 21 sessions + 1 show: \$660	Code & Create an App! (4:45 to 5:45) \$40 per session x 19 sessions: \$760
Crochet & Knitting Design (3:45 to 4:45) \$30 per session x 21 sessions: \$630	Thursdays Creative Dance (3:45 to 4:45) \$30 per session x 22 sessions: \$660	
Musical Theatre (3:45 to 4:45) \$35 per session x 21 sessions + 1 show: \$770	Fencing (3:45 to 4:45) \$35 per session x 21 sessions: \$735	
Swimming (3:45 to 5:45) \$55 per session x 21 sessions: \$1155	Group Ukulele (3:45 to 4:45) \$30 per session x 22 sessions: \$660	
Arabic (4:45-5:45pm) \$30 per session x 21 sessions: \$630	Plastic Arts (3:45 to 4:45) \$30 per session x 21 sessions: \$630	
Musical Theatre (4:45 to 5:45) \$35 per session x 21 sessions + 1 show: \$770	Origami (4:45 to 5:45) \$30 per session x 21 sessions: \$630	
	Circuitry & Engineering Adventures (4:45 to 5:45) \$40 per session × 21 sessions: \$840	
		Grades 3rd-5th

Upper School 6th-9th Grade

Activities

6th & 7th Grade

Mondays

Soccer FFF (3:45 to 4:45) \$35 per session x 19 sessions: \$665*

8th & 9th Grade

Wednesdays

Soccer League* (CO-ED) (4:45 to 5:45) \$30 per session x 8 sessions: \$240

Video Game Coding & Design (4:45 to 5:45) \$40 per session x 21 sessions: \$840

*Costs to cover any competitions outside of Lyceum Kennedy or official uniforms are not included in the price. *Soccer will occur from January to March. A out of state competition to Chicago will occur in March of 2024. The competition is optional for participation.

Thursdays

Fencing Competitive Team (4:45 to 5:45) \$35 per session x 21 sessions: \$735*

Karate (4:45 to 5:45)

\$30 per session x 21 sessions: \$630

Lyceum Kennedy's Dance Team \$35 per session x 21 sessions: \$735*

Musical Theatre (4:45 to 5:45) \$35 per session x 21 sessions: \$735

Group Guitar Workshop (4:45 to 5:45) \$30 per session x 21 sessions: \$630

Fridays

Basketball League (CO-ED)* (4:45 to 5:45) \$30 per session x 9 sessions: \$270

Band (4:30 to 6:00) \$30 per session x 19 sessions: \$570

Electrifying Engineers (4:45 to 5:45) \$40 per session x 19 sessions: \$760

The Voice! (3:45 to 4:45) \$30 per session x 20 sessions: \$600 (includes show fee)

Arabic (4:45 to 5:45) \$30 per session x 19 sessions: \$570

*Basketball will occur from March to June. An out of state competition will occur. Participation is optional.